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1) Find perimeter of 2) Find perimeter of 3) Find perimeter of
b rectangle having square having each side triangle
sidesa=4178 cm (s) equals 8599 in b b a=3652ft,b=
andb=4134cm 6993 ft
s a
Answer: Answer: Answer:
4) Find perimeter of 5) Find area of square 6) Find area of
b rectangle having having each side (s) b rectangle having
sidesa=7102in equals 5031 ft sidesa=9789 cm
and b =6343in a and b =8585cm
s
Answer: Answer: Answer:
7) Find perimeter of 8) Find perimeter of 9) Find perimeter of
b rectangle having b rectangle having rectangle having
sidesa=9832cm sidesa=6954in sides a = 8938 ft
and b = 3937 cm a and b=3852in a and b = 5316 ft
Answer: Answer: Answer:
10) Find perimeter of 11) Find area of 12) Find area of triangle
a p triangle triangle a=8722in,b=
h=2592,a=7031 b b a=3405m,b= ¢ 9141in
m, 7817 m
b=9696m,c= 3 a
9810m
Answer: Answer: Answer:
13) Find perimeter of 14) Find perimeter of 15) Find perimeter of
sguare having each square having each b rectangle having
s side (s) equals 5739 cm s side (s) equals 2162 cm sidesa=5079 m
a andb=2234m
s
Answer: Answer: Answer:
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16) Find area of 17) Find area of 18) Find perimeter of
b rectangle having b rectangle having triangle
sidesa=8773in sidesa=7499in ¢ a=1862ft,b=
a andb=7791in a and b=7014in 3831 ft,
a C = 7497ft
Answer: Answer: Answer:
19) Find perimeter of 20) Find area of square 21) Find perimeter of
triangle having each side (s) triangle
b b a=3899in,b= s equals 6094 m ¢ a=2139ft,b=
4246 in ul 7909 ft,
3 s a ¢ = 9087ft
Answer: Answer: Answer:
22) Find area of square 23) Find area of 24) Find area of
having each side (s) b rectangle having triangle
s equals 2963 in sidesa=5194in b b a=5261m,b=
a andb=4041in 9725 m
s a
Answer: Answer: Answer:
25) Find perimeter of 26) Find area of square 27) Find area of triangle
square having each having each side () a=5617m,b=
s side (s) equals 8143 m s equals 2415 ft b ¢t 6900 m
s 5 4
Answer: Answer: Answer:
28) Find perimeter of 29) Find area of square 30) Find perimeter of
triangle having each side (s) b rectangle having
b b a=9042cm, b= s equals 9989 ft sidesa=5810in
9597 cm a and b =5489in
3 s
Answer: Answer: Answer:
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31) Find area of 32) Find area of square 33) Find perimeter of
b rectangle having having each side (s) b rectangle having
sidesa=8586m s equals 7479 m sidesa=3824m
a and b =8559 m a andb=3332m
s
Answer: Answer: Answer:
34) Find perimeter of 35) Find area of square 36) Find area of square
sguare having each having each side (s) having each side (s)
s side (s) equals 9707 m s equals 9893 m s equals 7846 m
s s s
Answer: Answer: Answer:
37) Find perimeter of 38) Find perimeter of 39) Find area of square
. triangles=3393in square having each having each side (s)
s side (s) equals 4843 cm s equals 6449 cm
s
s s
Answer: Answer: Answer:
40) Find perimeter of 41) Find perimeter of 42) Find perimeter of
triangle b rectangle having sguare having each
b b a=6309cm, b= sidesa=9390m s side (s) equals 2645 cm
8244 cm a and b =6821m
2 s
Answer: Answer: Answer:
43) Find perimeter of 44) Find areaof triangle || 45) Find area of square
a p triangle a p h=1933ft, a= having each side (s)
h=2764,a= 3996 5785 ft, s equals 4195 m
¢ ft, 5 b=7133ft,c=
b=76451t,c= 8469 ft s
9469ft
Answer: Answer: Answer:
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46) Find perimeter of 47) Find area of triangle 48) Find area of triangle
. triangle s= 6179 cm a p h=5313m, a= a p h=5513cm,a=
6587 m, 8762 cm,
r c b=7884m,c= c b=9305cm,c=
8371 m 9930 cm
Answer: Answer: Answer:
49) Find area of 50) Find area of
b rectangle having b rectangle having
sidesa=7185m sidesa=9890 ft
a and b =6893m a and b = 8303 ft
Answer: Answer:
Total: /50
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1) 16624cm 2) 34396in 3) 17638ft

8) 21612in 9) 28508ft 10) 26537m

15) 14626m 16) 68350443in 17) 52597986in

22) 8779369in 23) 20988954in 24) 11984977.95751m
29) 99780121ft 30) 22598in 31) 73487574m

36) 61559716m 37) 10179in 38) 19372cm

43) 21110ft 44) 6894044.5ft 45) 17598025m

50) 82116670ft
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Answers:

4) 26890in

11) 5020360.0910559m

18) 13190ft

25) 32572m

32) 55935441m
39) 41589601cm
46) 18537cm

GEMERATOR

5) 25310961ft
12) 39863901in
19) 12391in
26) 5832225ft
33) 14312m
40) 22797cm
47) 20943846m
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6) 84038565cm 7) 27538cm
13) 22956cm 14) 8648cm
20) 37136836m 21) 19135ft

27) 19378650m
34) 38828m

41) 32422m

48) 25649232.5cm

28) 28236cm
35) 97871449m
42) 10580cm
49) 49526205m
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